é Ej% % fire decimaler, reekkefolge for operationer med
A= J=C parenteser

Navn: Dato:  Score:
5,2+5,46—6,2)= 2,3-5,95,4+5,7)=
(2,2+4,6)x4—-6= 6(2,8—6)+3 =
(20+5+4,9)x3,9= 3,1-6,13,5+2,1)=
3,1+5,1)x4,3+2,6= B0+6—5,8)x5=
(6+2,6)x5,4+3,5= 25(6,6 +3,5)+ 5=
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é 8_%_8 % fire decimaler, reekkefolge for operationer med
A= 20 parenteser

Navn: Dato:  Score:
5,2+5,46—6,2)=4.12 2,3-5,9(5,4+5,7)=—63.19
(2,2+4,6)x4—-6=21.2 6(2,8—6)+3=-64
(20+5+4,9)x3,9=3471 3,1-6,13,5+2,1)=—-31.06
(3,1+5,1)x4,3+2,6=37.86 30+6—-5,8)x5=—4
(6+2,6)x5,4+3,5=49.94 25(6,6 +3,5)+5=50.5
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